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AHAERT 100 120 116 236 IHTHN 11,971 11,882 13,152| 25, 034|#kHET =T H 144 147 120 267 | FA RAHRT 516 646 715 1,361
ARYHT 225 208 222 430 FEIT=TH 128 130 121 251 KIEHMX 3,083 3,991  4,102| 8,093
JEBT 350 326 378 7045 EHT 230 268 281 549(fFxmTIU T H 69 56 55 111
BT 541 568 598| 1, 166|fRiFENT 3,480 3,892 3,910  7,802| AHFHHX 9,925 10,879 10, 187| 21, 066|F A JHT 329 455 476 931
& ST 303 309 335 644 FrifarlT 197 223 240 463 A ET 195 304 314 618
FE M 277 258 277 5357 FHIT 516 533 559 1, 092 Hrfny 999 1,272 1,332 2, 604|5% 1 LM — T H 664 837 954 1,791
)1 ET 115 127 135 262[iTART 3,230 3,552| 3,644 7, 196|814 H AT 354 441 467 9084k ILIET — T H 226 280 300 580
KAGHT 652 643 630 1, 273| HRHAT 3,015 3,445| 3,596 7, 041+ 2 mT 1,661 1,872| 2,008 3, 880| AR/ )N J=MAT 636 818 858 1,676
$RmT 17 12 20 32| T 567 649 665/ 1,314 H il 856 1,072| 1,074 2, 146| L4 mT 1,357 1,774| 1,920 3,694
FAHT 64 57 68 125| B mT 1,237|  1,490| 1,516  3,006| #HremRHX 3,870|  4,657| 4,881 9,538 Fg/\iEHLX 3,407  4,468|  4,822| 9,290
b= T 221 256 294 550 RARHT 162 176 179 355
Bl 69 60 66 126| A YERT 337 416 465 881| H-EFHT 2,573 2,897| 3,034  5,931|4 EET 443 502 566/ 1,068
JUREHT 125 108 134 242\ HERKT—T H 341 423 450 873| K J\AHT 1,009 1,222 1,164| 2, 386|ZEIGHT 264 359 365 724
HHET 159 123 108 231 HRET T H 370 456 4217 883 /1N J\AHT 1,152| 1,447 1,424| 2,871/ MET 746 856 900| 1,756
TREHT 79 61 82 43| ERIT =T H 415 488 491 979| IE@L=FHT 387 482 533 1, 015 BLmT 185 239 243 482
FFIHET—T H 154 143 174 3L7|HERETIUT B 277 382 402 T84|FEETE —T H 44 46 14 60 % H T 977 1, 253 1,319 2,572
FRIHET T H 111 118 114 232 IFRMIX 14,374| 16,393 16,825 33, 218|EMTPE —TH 96 95 80 175|#f BT 585 770 798| 1,568
FFIHET =T H 130 138 149 287 fErT—TH 218 201 236 437|  HEEHIX 3,2000  3,979| 4,191 8,170
FRTHETY T H 143 178 185 363| AT 3,520| 4,149 4,315 8, 464| MM T H 35 36 39 75
A FalT 449 469 523 992( [y T —T H 257 293 321 614|MEAT=TH 14 15 16 31| AR EFIT 5,278  6,374| 6,487 12,861
FISRET 18 13 23 36| rIRT T H 563 661 721 1, 382( =AU T H 100 109 108 217| ' ST 148 190 232 422
FHT 166 161 187 348 T Rl =T H 824 895 973| 1, 868|ULLMT 1,764) 2,147 2,243 4,390 AEEFHX 5,426  6,564| 6,719 13,283
=R 48 32 49 81| HT 1,786 1,826 2,012 3,838]  HJIHX 7,392 8,697| 8,891 17,588
T 181 164 187 351 | FEpFHAT 1, 385 1,583 1,616 3,199 RIRHT 399 516 562 1,078
RILHT 472 505 542| 1, 047|BL g HT 180 197 222 419( 4 FHmT 471 537 613| 1, 150|5¢ HHET 480 559 598 1,157
(=) 38 35 37 72|\ FHRHET—TH 468 547 505 1, 052 Al T 2,128|  2,575| 2,505 5, 080| k& EFHT 535 682 640 1,322
fEFHET 89 76 94 170[ )\ TRIET =T H 354 379 417 796 TR BT 213 282 314 596 74 BT 126 162 145 307
HEAHT 45 40 48 88|\ FHRET=TH 425 491 5200 1,011 &mmT 1,024 1,271 1,362 2, 633|FKENT 501 722 724 1,446
FH T 205 190 209 399\ FARATIY T H 365 437 486 923 | fIRET 475 596 610 1, 206| % HT 343 427 406 833
f=Lg 175 190 191 381 X 10,127| 11,458 12,108| 23, 566|HTE=HT 366 398 468 866|Jt 4 HT 459 613 612| 1,225
T bET 571 615 664 1,279 J\ T 1,991 2,527 2,601 5,128 T EX 2,843  3,681| 3,687| 7,368
R T 29 25 27 52| b EFmy 2,160|  2,600| 2,651 5,251|F5 HET 116 165 170 335
ST 530 522 600 1, 122| =By FERT 35 40 45 85| J\iEHLX 6,784|  8,351|  8,643| 16,994| L-iEHT 234 340 319 659
FRHT 27 29 34 63| k- EmT 3,324| 3,782| 3,688 7,470 TERETHT 128 191 193 384
LT 168 163 169 332| AL AT 350 412 472 884 - fi] W] 1,150 1,450  1,469|  2,919| F75 HHET 138 201 195 396
JEET 200 179 219 398| 22HT 613 625 628 1,253 & ET 1,787| 2,164 2,207| 4, 371| FuEHT 354 486 456 942
AT 374 373 402 775 TSP HT 1,089 1,346 1,350| 2, 696 T 797 975/ 1,014 1, 989|H FHHT 269 421 406 827
R AT 41 36 43 79| 23T 1,226 1,612 1,617| 3, 229|db/AGRET 420 493 562 1, 055| P K FHT 362 411 382 793
AT 1,596| 1,666 1,827|  3,493| T EHT 923|  1,168| 1,140  2,308| HE-fhX 4,154  5,082| 5,252 10, 334|/\iE/FHT 286 413 445 858
fi FE T 218 221 254 475 1% PART 399 478 485 963 ) | 1 (X 1,771 2,463| 2,396 4,859
izt 119 129 148 277| RJEIT— T H 501 597 565 1, 162|7HT 460 578 575/ 1,153
F T 158 144 156 300 BT Z T H 1,419 1,590/ 1,837 3, 427| 49 T 409 545 514 1, O59| A AIMT =/ £ 492 677 692 1,369
‘wr eHT 196 174 251 425\ fERT =T H 586 688 749 1, 437|dbHrE AT 152 215 206 421| A vAIRTHE 430 593 602| 1,195
Amy 195 169 204 373|HERTIUT H 567 699 689 1, 388|717 /10T 127 178 189 367| BHET KA 171 253 255 508
JEAHERET 57 48 32 80| W HEmT 845 981 997 1, 978|111y 1, 109 1, 466 1,537 3, 003| A PHIIT 35K 115 167 171 338
A1) 326 346 414 760 Fn £ ] 559 603 561 1, 164| R i mT 350 447 481 928 A AINT) 11 358 458 486 944
)1y 232 191 272 463|  fEEFHIX 14,596| 17,221| 17,474| 34, 695|%RHT 425 551 564 1,115 AKX 1,566| 2,148 2,206 4,354
1L FHET 115 111 112 223 Felgmy 221 296 308 604
S1) 89 84 99 183| b/ sy 759 899 952| 1,851 EHHHX 3,253 4,276| 4,374 8, 650|5EAKHTPEH R 709 949| 1,016 1,965
Pu > T 42 47 50 97| F/NtgmT 444 579 645 1,224 FERHT S BT 82 111 126 237
el 50 61 57 118 kA my 3, 047 3,174| 2,730 5,904 b RSHET 1,097 1,315 1,355 2, 670| FEHPHTHA 2 IR 342 234 210 444
G mT 89 94 80 174 T/ BHT 2,131 2,354 2,188 4, 542|145 KAHBT 270 393 401 T4 EEHBHT R S5 817 1,166 1,187 2,353
JHIAERT 231 237 265 502| T/ gHT 1,511 1,622 1, 557 3, 179| L&iriT 600 831 821 1, 652 FEHRmT H A = 392 552 568 1,120
FEHAHT 424 357 436 T93| HUAHHET 1, 405 1,639 1,615 3, 254| FRIFHT 399 551 555 1, 106| FARRT F2 1,118 1,472 1,572 3, 044
i FH T 173 173 162 335 Rk — T H 287 279 204 483| FFRHET 201 255 255 510 FEABHT T 674 932 977 1,909
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M [ 321 517 505 1, 022| & FHMT J7 1L 172 284 269 553
FEHRMT 201 301 308 609| 5 HMTAYS 456 637 619 1, 256
FEPRETFT A (L 139 199 210 409| & HETH) 1 276 362 376 738
FEHRMT )1 403 560 592 1, 152 & FHmuyih 469 697 657 1,354
FEYRIT P 6 5 10 15[ & HHT % H 402 564 608 1,172
FEHRMTAAAIR 769) 1,120 1,146| 2, 266| R HMTLH 98 151 156 307
FEGRET A i 1, 440 1,926 1,996 3, 922| & HHT 32 47 55 102
PR HE X 7,413|  10,044| 10,423| 20, 467| & HET R 282 413 431 844
EEaalp: 210 205 245 450
Sl ET 3,157 4,141 4,319 8, 460|FHEHEHA 39 64 60 124
paislag 1, 393 1,759 1,910 3, 669| &5 HHT IR 13 13 17 30
5| FE T 413 570 620 1, 190| HIHRT L R 356 530 555 1,085
3=t 1) 131 189 198 387| EHFHMHTTEIR 41 61 75 136
T faf v ] 224 251 253 504 & H-ET £ 1 118 179 167 346
77K T 71 112 108 220| 5 HHTH S 134 219 209 428
% JE[RIET 62 100 103 203 HET/NER 321 449 482 931
B S HT 170 264 266 530| & HHT L AE 104 169 188 357
V5[ 5y HT 206 309 311 620 & HHRT A I 166 232 229 461
b Iy 311 391 360 T51| & FHHT /N 197 299 302 601
T e AT 2,806 3,754 3,671 7, 425| 5 H0T S E 516 742 720 1,462
AT 1,052 1,353 1,342 2, 695| & FRTRIE— T H 315 407 433 840
=AY 633 889 900 1, 789|EFMIFEE G T H 342 441 475 916
R AT 1,301 1,636 1,596| 3, 232|HHETFEG =T H 222 313 307 620
[iZ1=1a) 1,060] 1,384 1,342| 2, 726 HHT AR 291 443 440 883
rh ELET 389 507 550 1, 057| & HMT FELE 92 139 147 286
PR T 558 762 787 1, 549| & FRMT b B 144 207 200 407
FEHET 473 617 676 1, 293|F AT O 59 97 93 190
RER X 14,410 18,988 19,312 38,300| #HFFHX 8,962 12,521| 12,805 25,326
iy 5,432 6,291 6,427 12,718
T b X 5, 432 6,291|  6,427| 12,718
R T 1, 167 1,614 1,712| 3,326
rh = AT 979 958| 1,175 2,133
S AT 459 655 644 1,299
B4 LT 127 76 105 181
R4 IHIRT 49 48 69 117
R ERT 336 524 542| 1,066
LT 847| 1,153 1,203| 2,356
o L LT 651 911 907| 1,818
- HLRRT 950/ 1,315 1,392| 2,707
AT 842 1,182  1,204] 2,386
e T 674 951 980 1,931
FaHT 150 233 228 461
+- 3T 198 306 276 582
B PRHT 332 506 490 996
=Y FRET 105 144 145 289
[URLa) 116 164 173 337
R4 X 7,982| 10,740 11,245 21,985
E R 623 808 825 1,633
IR E IR 1,176)  1,438] 1,516| 2,954
E R RAR 218 325 331 656
IR RAR 940/ 1,369 1,397 2,766
2 HEET/M 138 217 221 438 w A E 151,941| 184,774| 190, 122| 374, 896




